.-—-.l'l.. _"

m- AaBb e

7. A supplier of machined components for industrial machinery (e.g., power
tools, pumps, motors, COompressors) operates a factory that includes a forge
shop, machine shop, and finishing department. Many of the parts produced by
the company are fabricated going back and forth through these three
departments. Assume you want to draw a network diagram for parts produced

. “_ﬂ,,: J % & val) : ¥
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Multiple upmtjnn.s pm-[_‘crﬁncd simultaneously, tools convenient and
t:nrnfjurt, adequate illumination, proper chair/table

C. !\'Iultl'ple Operations performed simultancously, work automation, adequate
illumination, proper chair/table

Multiple operations performed simultaneously tools convenient and
comfort, adequate illumination

6. What are the four methods indicated in the text by which the analyst develops
a description of the work process that is ultimately used to create the graphic?

The analyst is intimately familiar with the process.
The analyst observes and records information about the process.
One-on-one interviews of those familiar with the process.

All of the above

P op

! ; . :
A supplier of machined components for industrial machinery (e.g., power
4 tuﬂl:;umps. motors, CoOmpressors) operates a factory that includes a forge .
shop, machine shop, and finishing department. Many ut;l the parts produced by
the company are fabricated going back and forth ' ) .. gt
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¢. Gravity n:.imp chutes should be used for completed
work units where appropriate.
d. Gravity feed bins should be used to deliver small parts and fasteners

5. Whlclh er the principles of motion economy are violated in the next work
description

“Charles Dickens was working well into the night. writing with his quill on
one picce of paper after the next. Sitting on his sofa writing on the coffee table
with lone candle in front of him on the desk."

a. Work automation, tools conyenient and comfort, adequate illumination,

proper chair/table _
b. Multiple operations performed simultaneously, tools convenient and

comfort, adequate illumination, proper chair/table 1
Multiple operations performed simultaneously, work automation, adequate

illumination, proper chair/table ‘
Multiple operations pufnﬂqnd simultancously ,tools convenient and

L

o T
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12. Five parts (A, B, C, D, and E) are processed through a sequence of five
upcrat}ﬂns (1,2, 3,4, and 5). Not all parts are processed in all operations. Part
A, which has daily quantities of 50 units, is processed through operations 1. 3.
5, and 1 in that order. Part 8, which has daily quantities of 70 units, is
processed through operations 2,4, and S in that order. Part C, which has daily
quantities of 25 units, s processed through operations 3,2, and 4 in that order.
Part D, which has daily quantities of 10 units, is processed through operations
1,2,4, and 5 ip that order., Finally, part E, which has daily quantities of 15
units, is procesaasghrough operations 3, 1. and 2 in that order,

I e o —
- _ = S N
l-_r —i -".-_-' - -
o I- Ll

According to Hollier method, the most logical in-line sequence of work
stations in the work system is;

5
3

/T = (e 2
 ImAa8ed e
2-5-3-1-4
#=0=8-%5]

=, S




. Causes of bottlencck operations include but not limited to-

Supplier related issues
Unorganized workforce and materials
Less trained workers

All of the sbove
=3

. A work group of 5§ workers in a certain month produced 500 units of output

working 8 hr/day for 22 days in the month. Suppose that in the next month, the
same work group produced 600 units but there were only 20 workdays in the
month, What is the productivity index using the prior month as a base




Wt iy

C. Less trained Wﬂr{:i.l,-
& All of the above

14. A work group of 5 workers in a certain month produced 500 units of output
working 8 hr/day for 22 days in the month. Suppose that in the next month, the
same work group produced 600 units but there were only 20 workdays in the
month. What is the productivity index using the prior month as a basc,

0.568 '
0.75
1.32
1.65

} : ed 300 cars with
- manuficturing company has produced 300 h
= ;nﬂ:}ﬂm::t:: :.:::.IT::I? :::!rrl:. The company's productivity ratio for this manth is:
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g }'..ast year, the annual demand for a certain piece of merchandise that is
inventoried at a department store warchouse was 13,688 units. The annual
demand is expected to increase 10% in the next year. One unit of the product
costs $8.75, and the selling price is $19.95. The holding cost rate is 15%/yr.
The cost to place an order for the merchandiss is figured at $65. The economic
order quantity for this case is:

A.
B.
&

1221 pe
1165 pc
1300 pc
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pickin D;I:“’.Fhush.mh u‘r{.mm - IE.W other tools before grasping the wrcnr.*l{ and
& 1t up. The list of the therbligs that comprise this motion sequence is:

Transport empty, search, select, grasp
Transport empty, search, grasp
Transport empty, select, grasp
Transport empty, plan, select, grasp

One example on ineffective physical and mental basic motion element

Hold
Plan
Search
Use

3. What is the lowest classification of hand and arm motions?




The plumber, kneeling on the floor next to the sink, reached for the monkey wrench

in his tool kit, pushing around a few other tools before grasping the wrench and
picking it up. The list of the therbligs that comprise this motion sequence is:

Transport empty, search, select, grasp
Transport empty, scarch, grasp
Transport empty, sclect, grasp
Transport empty, plan, select, grasp

s
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1
4. Which of the following motion economy principles does this picture satisfy?

a. The method should consist of smooth continuous
curved motions rather than straight-line motions
with abrupt changes in direction.

Momentum should be used to facilitate tho task

wherever possible
Gravity drop chutes should be used for completed

work units where appropriate.
Gravity feed bins should be used to deliver small parts and fasteners.

next work

les of motion economy are violated in the

5. Which of the princi




Which of the princi
description

. Gravity drop n:hut'u:-;huuld be |
: used fi
work units where appropriate, i g

d. Gravity feed bins should be used to deliver small parts and fasteners.

ples of motion economy are violated in the next work

“Charles Dickens was working well into the night. writing with his quill on

one piece of paper after the next. Sitting on his sofa writing on the coffee table
with lone candle in front of him on the desk.”

b.

Work automation, tools conveitient and comfort, adequate illumination.
proper chair/mble :

Multiple operations performed simulunmlfsly._. tools convenient and
comfort, adequate illumination, proper chair/table |

Multiple operations Mﬂm simultaneously, work automation, adequate
illumination, proper chair |
Multiple np-mtiun;.i pcri_'onned simultaneously ,tools convenient and
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B 3
C. 2
D. 4

8. Which of the following are traditional industrial engineering charts?

Network diagram

Process map

Activity charts

All of the above i

e

9. Relationship maps are used for connecting:

a. Input and output
b. Supplier and Customer
¢. Time and distance
d

Aand B
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b. Sl_ipplier and Custome: Lk
c. Time and distance
d AandB
10. The following chart is: ::_ i =
= . K —|
a. Right hand-left hand activity chart —— I— . | - -
b. Worker-multimachine activity 1= ' i ' S
chart oL _ -
c. Workplace activity chart = I -
d. Worker-multimachine process map [ i __‘
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| 1. Last year, the annual demand for a certain piece of mcrchar{dise that is
st e e b warshouse was 13,688 units. The annual



The University of Jordan 4353 Y1 daalal)

by this factory. What is the maximum number of arrows possible in the
network diagram?

A 6
B, 3




network diagram? | ' e

Cnowr
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8. Which of the following are traditional industrial engineering charts?

a. Network diagram :
b. Process map

¢. Activity charts

d. All of the above

9, Relationship maps are used for connecting:

a. Input and output
b, Supplier and Customer
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8. Which of the following a

are :.radmmml industrial cnglm‘:erm,g, charts?

Network diagram
Process map
Activity charts
All of the above

oo

9. Relationship maps are used for connect Ing:

a. Input and output,
b. Supplier and Customer
c. Time and distance
d AandB
10. The following chart is: | | s A o o

a. Right hand-left hand a{:tiv.iljl,r chart
b. Worker-multimachine activity

chart e
¢. Workplace nc!wu}fﬁnhart
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